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H H H 1 2 3 4 5 6 7 8 9 10 11 12 £
A |H1/3 (m) 4,55 8. 84 7.05 3.25 3.51 3.18 4,74 2.18 2.71 4,51 7.33 7.07 8. 84
KA R 1
i T1/3 (s) 8.9 11.8 10. 6 8.0 7.7 8.6 8.8 7.7 6.9 9.7 11.6 10.3 11.8
fL By (B -KE:4y)| 15-11:40| 21— 2: 7-10: 0] 23-14: 0| 18- 8:40| 13- 5:20| 13-14:20| 30- 0:20| 10- 9:40| 20-14:20| 15-19: 0| 31- 8:20 g@é
B B |HMAX (m) 7.33 12.11 9.46 5.44 6. 88 5.68 7.09 3.11 4.51 7.35 11.26 12.28 12.11
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54 TMAX (s) 8.3 12.3 9.2 6.6 6.5 7.7 8.8 7.9 6.0 8.7 11.3 10.3 12.3
H1/3| ¥ % & 1.77 2.01 1.87 0.83 0.82 0.62 0.80 0.56 0.66 1.20 1.53 2.11 1.23
SEIEE 31 :
(m) | HE %R 2= 1.04 1.27 1.38 0.53 0. 60 0.35 0.74 0.42 0.51 0.75 1.00 1.27 1.05
- T1/3| & ¥ & 6.9 6.8 6.7 5.2 5.3 5.1 5.5 4.8 5.0 5.8 6.5 7.0 5.9
TR 2= —
(s) | HEHERZ= 1.31 1.33 1.48 1.01 1.14 0.99 1.35 1.01 0.81 1.18 1.24 1.38 1.45
oA % (%) 100. 00 99.90 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 99.86 | 100.00 | 100.00 | 100.00 99. 98
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